Moto-All.ru

CIIMCOK JOETAJIEU JId "STEERING STEERING ASM. - R15RMA57FA"

POLARIS R15RMAS57FA RGR 570

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

© 2014 Polaris Industries Inc.

700129



CITMCOK OETAJIEY [1J1d "STEERING STEERING ASM. - RISRMA57FA"

POLARIS R15RMAGL7FA RGR 570

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 1824147 CpoKk 1nocTaBK# OT 27 gHE’ ASM-GEAR BOX,STEERING
2 5412012 CpOK IT0CTaBKH OT 27 fHEeH BOOT-DRIVER SIDE
3 5412013 Cpok 1mocTaBku OT 19 mHe# BOOT-PASSENGER
. ROD-END,10MM,M1-
4 7061189 CpOK ITOCTaBKH OT 27 [HEH -1.5LH,54DEG
. NUT-JAM,M14-1.5,LH
5 2205058 CpOK IT0CTaBKH OT 27 fHEeU THREAD
6 7080978 CpoK 1oCcTaBKY OT 27 fHER CLAMP-BOOT
7 7080979 Cpoxk mocTaBku ot 19 gHen CLAMP-BOOT
8 7518702 Cpoxk nocraBku oT 19 gHel BOLT-M8X1.25X20
9 7518935 CpOK IT0CTaBKY OT 27 fHER BOLT-M8X1.25X95 HX
BOLT
10 7547332 Cpok moctaBku ot 19 nHen NUT-M8X1.25
11 7558402 CpOK II0CTaBKH OT 3 HHeH WASHER
12 1824294-458 CpOK IT0CTaBKH OT 27 fHEeH ASM-TILT
13 5632295-458 CpOK TOCTaBKH OT 27 HHEH COLLAR-STEERING LOCK
. ASM-SHOCK,OIL
14 7044098 CpOK ITOCTaBKH OT 27 fHEH LOCKING,MACH
15 7518665 CpOK IT0CTaBKH OT 27 fHEe’ BOLT-M10X1.25X130
16 7518786 CpOK IIOCTaBKH OT 27 HHEH BOLT-SHOULDER
17 7546703 Cpok moctaBku ot 19 gHen NUT
18 7547333 CpoK 1ocTaBK# OT 27 gHe’ NUT-M10X1.25
. SCR-HXFL-M10X1.25X75
19 7519854 CpOK I10CTaBKH OT 27 fHEeH 10.9 70D
20 7556099 CpOK TOCTaBKH OT 27 HHEH WASHER (10)
21 7661203 Cpoxk noctaBK# OT 27 gHE’ PIN
22 1823623 CpoK 1ocTaBKH OT 27 fHE’ WHEEL-STEERING
23 5436536 CpOK 1ToCcTaBKY OT 27 fHER CAP-STEERING WHEEL
. SHAFT-
24 1543390 CpOK IOCTaBKH OT 27 fHEH STEERING, UPPER/LWR
25 7518644 Cpok noctaBky oT 19 mHe# SCR-M10X1.50X35 HX/FL
26 7547385 CpOK IT0CTaBKH OT 27 fHEeN NUT-NY INS
27 7547506 CpoK 1mocTaBKH OT 19 mHew NUT-HEX-M16X2
28 7556675 Cpok noctaBku oT 19 gHe# BUSHING-STEERING
. LOCK-
29 7082045 CpOK IoCTaBKH OT 27 fHEH STEERING, 1000COMBINA
TIONS
. SCR-M5X.8X10 TX BTN
30 7518457 CpoOK 1oCcTaBKY OT 27 fHER PIN-IN-HD
. SWITCH-
31 4015149 CpoK IocTaBKH OT 27 gHe’ BLOCK, TURN, LIGHTS, HO
RN
. BRKT-SWITCH
32 5260697-458 Cpoxk noctaBku ot 19 fHen BLOCK,FR, MRGR, MBLK
. BRKT-SWITCH
33 5260698-458 Cpok mocTaBku oT 19 mHen BLOCK,BK, MRGR, MBLK
33 7519121 CpOK IOCTaBKH 0T 27 fHel li?]? -HXFL-M6X1.0X20 8.8
34 7547332 Cpok moctaBku ot 19 mHen NUT-M8X1.25







